

B&M Marine Construction, Inc.

Bid Contact **Mitch Bryant**
mbryant@bm-marine.com
Ph 954-421-1700

Address **3500 sw 14th street**
deerfield beach, FL 33442

Item #	Line Item	Notes	Unit Price	Qty/Unit	Atch. Docs
2019-022-01-01	General Conditions: Mobilization/Demobilization	Supplier Product Code:	First Offer - \$62,200.00	1 / lump sum	\$62,200.00 Y
2019-022-01-02	General Conditions: Contingency	Supplier Product Code:	First Offer - \$348,000.00	1 / lump sum	\$348,000.00 Y
2019-022-01-03	General Conditions: Maintenance of Traffic	Supplier Product Code:	First Offer - \$28,000.00	1 / lump sum	\$28,000.00 Y
2019-022-01-04	General Conditions: As-Built Record Drawings	Supplier Product Code:	First Offer - \$10,000.00	1 / lump sum	\$10,000.00 Y
2019-022-01-05	General Conditions: NPDES Permit	Supplier Product Code:	First Offer - \$12,500.00	1 / lump sum	\$12,500.00 Y
2019-022-01-06	General Conditions: Video / Photography / Documentation Survey	Supplier Product Code:	First Offer - \$12,000.00	1 / lump sum	\$12,000.00 Y
2019-022-01-07	General Conditions: Project Identification Signs	Supplier Product Code:	First Offer - \$4,000.00	1 / each	\$4,000.00 Y
Lot Total \$476,700.00					

Item #	Line Item	Notes	Unit Price	Qty/Unit	Atch. Docs
2019-022-02-01	Civil - Grading & Drainage: Clearing and Grubbing	Supplier Product Code:	First Offer - \$8,450.00	1 / lump sum	\$8,450.00 Y
2019-022-02-02	Civil - Grading & Drainage: 60 Round Structure	Supplier Product Code:	First Offer - \$9,890.00	4 / each	\$39,560.00 Y
2019-022-02-03	Civil - Grading & Drainage: 96 Round Structure	Supplier Product Code:	First Offer - \$24,150.00	1 / each	\$24,150.00 Y
2019-022-02-04	Civil -	Supplier	First Offer - \$16,100.00	5 / each	\$80,500.00 Y

Grading & Drainage: WaStop Inline Check Valve	Supplier Product Code:					
2019-022-02-05 Civil - Grading & Drainage: 30R BMP Snout	Supplier Product Code:	First Offer - \$1,840.00	4 / each		\$7,360.00	Y
2019-022-02-06 Civil - Grading & Drainage: 72RTB96 BMP Snout	Supplier Product Code:	First Offer - \$10,350.00	1 / each		\$10,350.00	Y
2019-022-02-07 Civil - Grading & Drainage: 24 RCP	Supplier Product Code:	First Offer - \$880.00	60 / linear foot		\$52,800.00	Y
2019-022-02-08 Civil - Grading & Drainage: 48 RCP	Supplier Product Code:	First Offer - \$1,066.6667	15 / linear foot		\$16,000.0005	Y
2019-022-02-09 Civil - Grading & Drainage: 4 Thick Concrete Slab/Sidewalk	Supplier Product Code:	First Offer - \$6.9474	1900 / square foot		\$13,200.06	Y
2019-022-02-10 Civil - Grading & Drainage: FDOT Guiderail	Supplier Product Code:	First Offer - \$54.00	120 / linear foot		\$6,480.00	Y
2019-022-02-11 Civil - Grading & Drainage: Earthwork	Supplier Product Code:	First Offer - \$20.8571	350 / cubic yard		\$7,299.985	Y
2019-022-02-12 Civil - Grading & Drainage: Imported Fill	Supplier Product Code:	First Offer - \$65.00	225 / cubic yard		\$14,625.00	Y
Lot Total						\$280,775.0455

Item #	Line Item	Notes	Unit Price	Qty/Unit	Atch.	Docs
2019-022-03-01 Civil - Water & Wastewater: 2 Polyethylene Water Service	Supplier Product Code:	First Offer - \$79.695	800 / linear foot		\$63,756.00	Y

2019-022-03-02	Civil - Water & Wastewater: 2	Supplier Product Code: Polyethylene Wastewater Vacuum Sevice	First Offer - \$28.405	800 / linear foot	\$22,724.00	Y
2019-022-03-03	Civil - Water & Wastewater: Vacuum Wastewater System Components	Supplier Product Code: Polyethylene Wastewater Vacuum Sevice	First Offer - \$106,100.00	1 / lump sum	\$106,100.00	Y
Lot Total						\$192,580.00
Item #	Line Item	Notes	Unit Price	Qty/Unit		Atch. Docs
2019-022-04-01	Civil - Other: Decorative Fencing	Supplier Product Code:	First Offer - \$46.875	640 / linear foot	\$30,000.00	Y
2019-022-04-02	Civil - Other: Gazebos, Pergolas, & Flag Pole	Supplier Product Code:	First Offer - \$150,000.00	1 / lump sum	\$150,000.00	Y
2019-022-04-03	Civil - Other: Bicycle Racks	Supplier Product Code:	First Offer - \$5,000.00	1 / lump sum	\$5,000.00	Y
Lot Total						\$185,000.00
Item #	Line Item	Notes	Unit Price	Qty/Unit		Atch. Docs
2019-022-05-01	Landscape & Irrigation - Tree/Palm Relocation: Medium Palm	Supplier Product Code:	First Offer - \$575.00	1 / each	\$575.00	Y
2019-022-05-02	Landscape & Irrigation - Tree/Palm Relocation: Large Palm	Supplier Product Code:	First Offer - \$690.00	8 / each	\$5,520.00	Y
2019-022-05-03	Landscape & Irrigation - Tree/Palm Relocation: Small Tree	Supplier Product Code:	First Offer - \$287.50	2 / each	\$575.00	Y
Lot Total						\$6,670.00
Item #	Line Item	Notes	Unit Price	Qty/Unit		Atch. Docs
2019-022-06-01	Landscape & Irrigation - Trees/Palms: Hibiscus Rosa-Sinensis (Chinese	Supplier Product Code:	First Offer - \$287.60	5 / each	\$1,438.00	Y

Hibiscus)

Item #	Line Item	Notes	Unit Price	Qty/Unit	Lot Total	\$1,438.00	Atch. Docs
2019-022-07-01	Landscape & Irrigation - Shrub Areas: Dianella Tasmanica Variegata (Flax Lily)	Supplier Product Code:	First Offer - \$20.6983	116 / each	\$2,401.0028		Y
2019-022-07-02	Landscape & Irrigation - Shrub Areas: Ficus Microcarpa Green Island (Green Island Ficus)	Supplier Product Code:	First Offer - \$20.7007	137 / each	\$2,835.9959		Y
2019-022-07-03	Landscape & Irrigation - Shrub Areas: Nerium Oleander Dwarf Pink Ice (Pink Oleander)	Supplier Product Code:	First Offer - \$20.7021	94 / each	\$1,945.9974		Y
2019-022-07-04	Landscape & Irrigation - Shrub Areas: Plumbago Auriculata (Blue Plumbago)	Supplier Product Code:	First Offer - \$20.699	103 / each	\$2,131.997		Y
2019-022-07-05	Landscape & Irrigation - Shrub Areas: Podocarpus Macrophyllus (Podocarpus)	Supplier Product Code:	First Offer - \$51.80	10 / each	\$518.00		Y
2019-022-07-06	Landscape & Irrigation - Shrub Areas: Schefflera Arboricola Trinette (Schefflera)	Supplier Product Code:	First Offer - \$20.7022	413 / each	\$8,550.0086		Y
2019-022-07-07	Landscape & Irrigation - Shrub Areas: Tripsacum Floridana (Dwarf Fakahatchee)	Supplier Product Code:	First Offer - \$20.7143	70 / each	\$1,450.001		Y
						Lot Total	\$19,833.0027
Item #	Line Item	Notes	Unit Price	Qty/Unit		Atch. Docs	
2019-022-08-01	Landscape & Irrigation - Sod: Stenotaphrum Secundatum (St. Augustine Sod)	Supplier Product Code:	First Offer - \$0.7695	13450 / square foot	\$10,349.775		Y
						Lot Total	\$10,349.775

Item #	Line Item	Notes	Unit Price	Qty/Unit	Attch. Docs
2019-022-09-01	Landscape & Irrigation - Irrigation System:	Supplier Product Code: Mainline Pipe	First Offer - \$9.92	400 / linear foot	\$3,968.00 Y
2019-022-09-02	Landscape & Irrigation - Irrigation System:	Supplier Product Code: Lateral Pipe	First Offer - \$5.5639	3710 / linear foot	\$20,642.069 Y
2019-022-09-03	Landscape & Irrigation - Irrigation System:	Supplier Product Code: Sleeve	First Offer - \$5.0385	130 / linear foot	\$655.005 Y
2019-022-09-04	Landscape & Irrigation - Irrigation System:	Supplier Product Code: Water Meter	First Offer - \$5,000.00	1 / each	\$5,000.00 Y
2019-022-09-05	Landscape & Irrigation - Irrigation System:	Supplier Product Code: Controller and Rain Sensor	First Offer - \$1,494.00	1 / each	\$1,494.00 Y
2019-022-09-06	Landscape & Irrigation - Irrigation System:	Supplier Product Code: Isolation Valve	First Offer - \$115.00	2 / each	\$230.00 Y
2019-022-09-07	Landscape & Irrigation - Irrigation System:	Supplier Product Code: Valve Assembly	First Offer - \$439.5714	7 / each	\$3,076.9998 Y
2019-022-09-08	Landscape & Irrigation - Irrigation System:	Supplier Product Code: Spray Head Assembly	First Offer - \$29.5517	174 / each	\$5,141.9958 Y
2019-022-09-09	Landscape & Irrigation - Irrigation System:	Supplier Product Code:	First Offer - \$62.5882	17 / each	\$1,063.9994 Y

Rotor
Assembly

2019-022-09-10	Landscape & Irrigation - Irrigation System:	Supplier Code:	First Offer - \$31.8652	89 / each	\$2,836.0028	Y
2019-022-09-11	Landscape & Irrigation - Irrigation System:	Supplier Code:	First Offer - \$662.00	1 / each	\$662.00	Y
2019-022-09-12	Landscape & Irrigation - Irrigation System:	Supplier Code:	First Offer - \$1,581.00	1 / each	\$1,581.00	Y

Item #	Line Item	Notes	Unit Price	Qty/Unit	Lot Total	Atch. Docs
2019-022-10-01	Electrical - LED Luminaires: Number of New Poles	Supplier Product Code:	First Offer - \$6,325.00	1 / each	\$6,325.00	Y
2019-022-10-02	Electrical - LED Luminaires: Number of New Luminaires 100W	Supplier Product Code:	First Offer - \$2,167.70	10 / each	\$21,677.00	Y
2019-022-10-03	Electrical - LED Luminaires: Number of New Bollards 25W	Supplier Product Code:	First Offer - \$2,024.00	5 / each	\$10,120.00	Y

Item #	Line Item	Notes	Unit Price	Qty/Unit	Lot Total	Atch. Docs
2019-022-11-01	Electrical - Trenching, Conduit & Wire: 1 PVC	Supplier Product Code:	First Offer - \$1.8606	4920 / foot	\$9,154.152	Y
2019-022-11-02	Electrical - Trenching, Conduit & Wire: 1-1/4 PVC	Supplier Product Code:	First Offer - \$4.0557	2460 / foot	\$9,977.022	Y
2019-022-11-03	Electrical - Trenching, Conduit & Wire: 3 PVC	Supplier Product Code:	First Offer - \$3.8333	450 / foot	\$1,724.985	Y

2019-022-11-04	Electrical - Trenching, Conduit & Wire: 600A Panel (Includes Installation)	Supplier Product Code:	First Offer - \$23,054.50	2 / each	\$46,109.00	Y
Lot Total \$66,965.159						
Item #	Line Item	Notes	Unit Price	Qty/Unit	Atch. Docs	
2019-022-12-01	Electrical - Wire Costs (Material & Installation): # 350 MCM	Supplier Product Code:	First Offer - \$12.8317	1200 / foot	\$15,398.04	Y
2019-022-12-02	Electrical - Wire Costs (Material & Installation): # 1	Supplier Product Code:	First Offer - \$5.3747	1225 / foot	\$6,584.0075	Y
2019-022-12-03	Electrical - Wire Costs (Material & Installation): # 1/0	Supplier Product Code:	First Offer - \$4.6405	3700 / foot	\$17,169.85	Y
2019-022-12-04	Electrical - Wire Costs (Material & Installation): # 6	Supplier Product Code:	First Offer - \$1.1358	2460 / foot	\$2,794.068	Y
2019-022-12-05	Electrical - Wire Costs (Material & Installation): Dock Pedstals: (Price Plus Installation)	Supplier Product Code:	First Offer - \$2,545.5714	14 / each	\$35,637.9996	Y
Lot Total \$77,583.9651						
Item #	Line Item	Notes	Unit Price	Qty/Unit	Atch. Docs	
2019-022-13-01	Electrical - Misc.: Wifi Components	Supplier Product Code:	First Offer - \$63,250.00	1 / lump sum	\$63,250.00	Y
Lot Total \$63,250.00						
Item #	Line Item	Notes	Unit Price	Qty/Unit	Atch. Docs	
2019-022-14-01	Electrical - Cabinet: SS Rackmount Server Cabinet	Supplier Product Code:	First Offer - \$16,100.00	1 / each	\$16,100.00	Y
Lot Total \$16,100.00						
Item #	Line Item	Notes	Unit Price	Qty/Unit	Atch. Docs	
2019-022-15-01	Structural: Supplier	First Offer - \$199,300.00	1 / lump sum	\$199,300.00	Y	

**Demolition Product
Code:**

						Lot Total	\$199,300.00
Item #	Line Item	Notes	Unit Price	Qty/Unit		Atch. Docs	
2019-022-16-01	Structural - Seawall: Concrete Cap	Supplier Product Code:	First Offer - \$612.50	800 / linear foot	\$490,000.00	Y	
2019-022-16-02	Structural - Seawall: 14 SQ Concrete King Piles	Supplier Product Code:	First Offer - \$62.1773	4455 / linear foot	\$276,999.8715	Y	
2019-022-16-03	Structural - Seawall: 14 SQ Concrete Batter Piles	Supplier Product Code:	First Offer - \$62.1773	4455 / linear foot	\$276,999.8715	Y	
2019-022-16-04	Structural - Seawall: 8 X 14 Long Concrete Sheet Panels	Supplier Product Code:	First Offer - \$3,640.00	100 / each	\$364,000.00	Y	
						Lot Total \$1,407,999.743	
Item #	Line Item	Notes	Unit Price	Qty/Unit		Atch. Docs	
2019-022-17-01	Structural - Marginal Docks: Decking and Supports	Supplier Product Code:	First Offer - \$240.00	225 / linear foot	\$54,000.00	Y	
2019-022-17-02	Structural - Marginal Docks: 14 SQ Concrete Dock Piles	Supplier Product Code:	First Offer - \$63.0612	980 / linear foot	\$61,799.976	Y	
2019-022-17-03	Structural - Marginal Docks: 12 Diameter Wood Mooring Piles	Supplier Product Code:	First Offer - \$60.8696	805 / linear foot	\$49,000.028	Y	
						Lot Total \$164,800.004	
Item #	Line Item	Notes	Unit Price	Qty/Unit		Atch. Docs	
2019-022-18-01	Structural - Floating Docks: Floating Dock with Gangway	Supplier Product Code:	First Offer - \$64,020.00	10 / each	\$640,200.00	Y	

Item #	Line Item	Notes	Unit Price	Qty/Unit	Lot Total	Atch. Docs
2019-022-19-01	Add Alternate: Lady Atlantic Boat Ramp	Supplier Product Code:	First Offer - \$10,000.00	1 / lump sum	\$10,000.00	Y
2019-022-19-02	Add Alternate: IPE Wood Decking	Supplier Product Code:	First Offer - \$112.00	225 / linear foot	\$25,200.00	Y
2019-022-19-03	Add Alternate: (3) Coats of Class V Finish	Supplier Product Code:	First Offer - \$33.40	800 / linear foot	\$26,720.00	Y
					Lot Total Supplier Total	\$61,920.00 \$3,955,937.7661

Supplier: B&M Marine Construction, Inc.**BID/PROPOSAL SUBMITTAL**

This form is part of your original Bid/Proposal submittal package. Please also attach any additional information or documentation requested in this solicitation. There is no need to include the informational sections of this solicitation in your Bid/Proposal submittal package.

INSTRUCTIONS

Sealed Bids/Proposals must be received on or before the due date and time (local time) via electronic submission at www.bidsync.com, or via hard copy at the City of Delray Beach City Hall Front Lobby Reception Desk, 100 N.W. 1st Avenue, Delray Beach, Florida 33444. Normal City business hours are 8:00 AM to 5:00 PM, Monday through Friday, except holidays. **All Bids/Proposals will be publicly opened** at City Hall unless otherwise specified.

Each hard copy Bid/Proposal submitted to the City shall have the following information clearly marked on the face of the envelope: Bidder's/Proposer's name, return address, solicitation number, due date for Bids/Proposals, and the title of the solicitation. If the Solicitation Summary is not included in the package, the City may deem the Bid/Proposal non-responsive. Bids/Proposals must contain all information required to be included in the submittal, as described in this Solicitation.

Solicitation No.: **2019-022**

Solicitation Title: **City Marina Construction**

Due Date and Time: **April 2, 2019 2:00 PM**

mitchbryant28

Name of Bidder/Proposer

Supplier: B&M Marine Construction, Inc.**ACKNOWLEDGEMENT OF ADDENDA****INSTRUCTIONS COMPLETE PART I OR PART II, WHICHEVER APPLIES****PART I**

List below that dates of issue for addendum received in connection with this solicitation.

Addendum #1, Dated	March 7,2019
Addendum #2, Dated	March 13, 2019
Addendum #3, Dated	March 15, 2019
Addendum #4, Dated	March 18, 2019
Addendum #5, Dated	March 18, 2019
Addendum #6, Dated	March 26,2019
Addendum #7, Dated	March 27,2019
Addendum #8, Dated	March 27,2019
Addendum #9, Dated	
Addendum #10, Dated	

PART II

NO ADDENDUM WAS RECEIVED IN CONNECTION WITH THE SOLICITATION

B&M Marine Construction
Firm Name

Glen Bryant
Signature

President
Name and Title

mitchbryant28
Date

Supplier: **B&M Marine Construction, Inc.**

SUBMITTAL SIGNATURE PAGE

By signing this document, the Bidder/Proposer certifies that it satisfies all legal requirements as an entity to do business with the City, including all Conflict of Interest and Code of Ethics provisions.

Firm Name: **B&M MARINE CONSTRUCTION**

Street Address: **3500 SW 14th Street**

Mailing Address (if different from Street Address):

Telephone Number(s): **9544211700**

Fax Number(s):

Email Address: **mbryant@bm-marine.com**

Federal Employer Identification Number: **46-0553257**

Prompt Payment Terms: **0% 0 days' net 0 days**

Signature: **glen bryant**

(Signature of authorized agent)

Print Name: **glen bryant**

Title: **pres.**

Date: **3-26-19**

By signing this document, the Bidder/Proposer agrees to all terms and conditions of this solicitation and the resulting contract/agreement.

THE EXECUTION OF THIS FORM CONSTITUTES THE UNEQUIVOCAL OFFER OF BIDDER/PROPOSER TO BE BOUND BY THE TERMS OF ITS BID/PROPOSAL, FOR NOT LESS THAN 90 DAYS, AND THE BIDDER'S/PROPOSER'S UNEQUIVOCAL OFFER TO BE BOUND BY THE TERMS AND CONDITIONS SET FORTH IN THIS SOLICITATION. FAILURE TO SIGN THIS SOLICITATION WHERE INDICATED ABOVE, BY AN AUTHORIZED REPRESENTATIVE, SHALL RENDER THE BID/PROPOSAL NON-RESPONSIVE. THE CITY MAY, HOWEVER, IN ITS SOLE DISCRETION, ACCEPT ANY BID/PROPOSAL THAT INCLUDES AN EXECUTED DOCUMENT WHICH UNEQUIVOCALLY BINDS THE BIDDER/PROPOSER TO THE TERMS OF ITS BID/PROPOSAL.

Supplier: B&M Marine Construction, Inc.**CONFLICT OF INTEREST DISCLOSURE FORM**

The award of this contract is subject to the provisions of Chapter 112, *Florida Statutes*. All Bidders/Proposers must disclose within their Bid/Proposal: the name of any officer, director, or agent who is also an employee of the City of Delray Beach.

Furthermore, all Bidders/Proposers must disclose the name of any City employee who owns, directly or indirectly, an interest of more than five percent (5%) in the Bidder's/Proposer's firm or any of its branches.

The purpose of this disclosure form is to give the City the information needed to identify potential conflicts of interest for evaluation team members and other key personnel involved in the award of this contract.

The term "conflict of interest" refers to situations in which financial or other personal considerations may adversely affect, or have the appearance of adversely affecting, an employee's professional judgment in exercising any City duty or responsibility in administration, management, instruction, research, or other professional activities.

Please check one of the following statements and attach additional documentation if necessary:

- To the best of our knowledge, the undersigned firm has no potential conflict of interest due to any other Cities, Counties, contracts, or property interest for this Bid/Proposal.
- The undersigned firm, by attachment to this form, submits information which may be a potential conflict of interest due to other Cities, Counties, contracts, or property interest for this Bid/Proposal.

Acknowledged by:

B&M MARINE CONSTRUCTION

Firm Name

GLEN BRYANT

Signature

PRESIDENT

Name and Title

mitchbryant28

Date

Supplier: B&M Marine Construction, Inc.**NOTIFICATION OF PUBLIC ENTITY CRIMES LAW**

Pursuant to Section 287.133, *Florida Statutes*, you are hereby notified that a person or affiliate who has been placed on the convicted contractors list following a conviction for a public entity crime may not submit a Bid/Proposal on a contract to provide any goods or services to a public entity; may not submit a Bid/Proposal on a contract with a public entity for the construction or repair of a public building or public work; may not submit Bids/Proposals on leases or real property to a public entity; may not be awarded or perform work as a contractor, supplier, sub-Bidder/sub-Proposer, or consultant under a contract with any public entity; and may not transact business with any public entity in excess of the threshold amount provided in Section 287.017 [F.S.] for Category Two [\$35,000.00] for a period of thirty-six (36) months from the date of being placed on the convicted contractors list.

Acknowledged by:

B&M MARINE CONSTRUCTION

Firm Name

GLEN BRYANT

Signature

PRESIDENT

Name and Title

mitchbryant28

Date

Supplier: B&M Marine Construction, Inc.**Notification of Public Records Law Pertaining to Public Contracts and Requests for Contractor Records Pursuant to Chapter 119, *Florida Statutes***

Pursuant to Chapter 119, *Florida Statutes*, Contractor shall comply with the public records law by keeping and maintaining public records required by the City of Delray Beach in order to perform the service. Upon request from the City of Delray Beach' custodian of public records, contract shall provide the City of Delray Beach with a copy of the requested records or allow the records to be inspected or copied within a reasonable time at a cost that does not exceed the cost provided in Chapter 119, *Florida Statutes* or as otherwise provided by law. Contractor shall ensure that public records that are exempt or confidential and exempt from public records disclosure requirements are not disclosed except as authorized by law for the duration of the contract term and following completion of the contract If the Contractor does not transfer the records to the City of Delray Beach. Contractor upon completion of the contract, shall transfer, at no cost, to the City of Delray Beach all public records in possession of the Contractor or keep and maintain public records required by the City of Delray Beach in order to perform the service. If the Contractor transfers all public records to the City of Delray Beach upon completion of the contract, the Contractor shall destroy any duplicate public records that are exempt or confidential and exempt from public records disclosure requirements. If the Contractor keeps and maintains public records upon completion of the contract, the Contractor shall meet all applicable requirements for retaining public records. All records stored electronically must be provided to the City of Delray Beach, upon request from the City of Delray Beach' custodian of public records, in a format that is compatible with the information technology systems of the City of Delray Beach.

IF THE SELECTED BIDDER/PROPOSER HAS QUESTIONS REGARDING THE APPLICATION OF CHAPTER 119, FLORIDA STATUTES, TO THE SELECTED BIDDER'S/PROPOSER'S DUTY TO PROVIDE PUBLIC RECORDS RELATING TO THIS AGREEMENT, CONTACT THE CUSTODIAN OF PUBLIC RECORDS AT CITY OF DELRAY BEACH, CITY CLERK, 100 N.W. 1ST AVE., DELRAY BEACH FLORIDA. THE CITY CLERK'S OFFICE MAY BE CONTACTED BY PHONE AT 561-243-7050 OR VIA EMAIL AT CITYCLERK@MYDELRAYBEACH.COM.

Acknowledged:

B&M MARINE CONSTRUCTION

Firm Name

GLEN BRYANT

Signature

PRESIDENT

Name and Title (Print or Type)

mitchbryant28

Date

Supplier: **B&M Marine Construction, Inc.**

DRUG-FREE WORKPLACE

B&M MARINE CONSTRUCTION

(Company Name)

a substance abuse policy in accordance with and pursuant to Section 440.102, *Florida Statutes*.

Acknowledged by:

B&M MARINE CONSTRUCTION

Firm Name

GLEN BRYANT

Signature

PRESIDENT

Name and Title

mitchbryant28

Date

Supplier: B&M Marine Construction, Inc.**SOLICITATION SUMMARY****IMPORTANT NOTICE**

The information you provide on this page may be read aloud at the PUBLIC OPENING for this Solicitation. It is VERY IMPORTANT that the summary information you provide below is exactly the same information contained in your Bid. If subsequent to the opening of Bids/Proposals, the City determines that the information contained in the electronic version of your Bid/Proposal is different from the information on this Solicitation Summary, the City reserves the right to deem your Bid/Proposal NON-RESPONSIVE and remove your Bid/Proposal from further evaluation and consideration for contract award.

BID INFORMATION

Solicitation Number:

2019-022

Title:

City Marina Construction

Due Date and Time:

March 26, 2019 2:00 PM

Name of Bidder/Proposer:

B&M Marine Construction, Inc.

Address

3500 SW 14th Street Deerfield Beach, FL

Contact Person

Glen Bryant

Bid/Proposal Amount (if applicable):

3,955,938.00

Authorized Signature:

Glen Bryant

Date:

mitchbryant28

By signing and submitting this Solicitation Summary, the Bidder/Proposer affirms that the information provided above is an exact and correct summary of the information contained in the electronic version of the Bidder's/Proposer's Bid/Proposal to the City of Delray Beach.

THIS SOLICITATION SUMMARY MUST BE SIGNED AND INCLUDED AS AN ORIGINAL HARDCOPY IN THE SEALED PACKAGE CONTAINING YOUR BID/PROPOSAL OR SIGNED AND INCLUDED WITH YOUR SECURE ELECTRONIC BID/PROPOSAL SUBMITTAL THROUGH WWW.BIDSYNC.COM.